Off-Road Lights

BRACKET

119.56

103

108.8

/]

e w—

91

4

==Y

80

BODY

/

- i
"~ \\ | SREFLECTOR PLATE =
/j \REFLECTOR . PC )
) LENS COVER : PC
= : =4 — O _ ©
% guo . O
38.6 N 15
> BOLT:M10x25 (SUS#304/NYLON)
NUT:M10 (SUS#304 .
BRACKET ™ SUS . &
@ (- WASHER:#21(210) B )
/ 1 D
SUS | h
B d
BOLT : 2—-M6*60(SUS#304) l
BOLT I\/|10*<25 (2%#)304)
NUT: M10 (SUS#304 /J( ]
RECEPTACLE:DT04—2P—E004
TERMINAL:1060—16-0122
WEDGE:W2P
it TOP COVER : ALUMINUM
\ I i
[ ﬁ
' ydll
ol O |©o
L

BUSHING:EPDM

ALUMINUM

POWER LEAD WIRE:96.8

[SPECIFICATION]

1.0PERATING VOLTAGE : DC 10V ~ 48V
2 WATTAGE : 12V/16.8W/1.4A

3.LED : 3W (CREE)

4. LUMEN : 1197 (LMY@171(LM)

5.LENS : LLO1CR-EX XX L-M2(10'25'40'60)
6.WEIGHT : 1.1 (Kg)

7 VIBRATION : 15.6 (Grms)

8 WATER PROOF & DUST RESISTANCE
9. TEMPERATURE : -40 °C ~ 80°C

9.LIFE : 50,000 (Hr)

10.IP RATING : IP68


http://www.carid.com/vision-x/
http://www.carid.com/off-road-lights.html

